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.bha
o]

in

ZA-2oldlE 3.2ha 9] =oll A & 5.6t & AR, WFlE 4
o] ol A & 7920 kg 2 AATSIALSUTH 1a & AL o
2 kg © B5U7P?

®© 7L, 1kg @ 72,0.1kg ® w4t 0.01kg
@ W, 1kg @UJ%, 0.1kg

~&B \

A2old 1a & AYAHEF : 3.2ha = 320a,
5.6t = 5600kg = 5600 = 320 = 17.5( kg)
Ayl 1a S A4 ¢ 4.5ha = 4504,
7920 + 450 = 17.6(kg)

wretA B 7F 1a & AJateFol

17.6 - 17.5 = 0.1(kg) B @&Uth
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170000 cm? = |m?

@1 @11 1w  @o7

® 1700

10000 cm? = 1 m?
170000 cm? = 17 m?
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19. o5 FHolt a4 Hler W2 A2 of= AJY7?

® 0.21ha @ 3000 cm x 45 m

® 5800a @ 1.43km?

@1.41 km?

B

T 2o w92 1A A vt
@©0.21 ha = 2100 m?

@3000cm x 45m = 30m X 45m = 1350 m?
®5800a = 580000 m?

@®1.43km? = 1430000 m?

®1.41 km? = 1410000 m?
@>0>0>0>0




